ﬁ-—- bf.'bﬂg

Soloe b &

f::.ul alL bhkhﬂldﬁ
Partﬁj

_ le
PR e v
/v
- '&Ah"h}“

%

(S

¢ b A
o - ﬁlpl\a

Solve the triangle for the variable shown.
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Solve the triangle ABC for all of its unknown parts. Assume C is the
right angle. A
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Solve the triangle ABC for all of its unknown parts. Assume C is the
right angle.
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Example 6: From a point 340 feet away from the base of the Peachtree
Center Plaza in Atlanta, Georgia, the angle of elevation to the top of the
building is 65°. Find the height of the building.
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